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1. R H D ER
(1) B UL AE
FEA R P 4% 450 469 A 19
R pEE A 5 1 4
RIEa ¢ 217,086 216,750 336
HEN AR 31,460 33,050 A 1,590
FOE H 6,608 7,140 A 532
E SR 1,251 1,651 A 400
HRR I T2 23,601 24,259 A\ 658
HMEIN 2% 28 21 7
EYeEAT 249,029 250,291 A 1,262
(2) #& 7 # H
HEH 221,210 230,039 A 8,829
A IS 56,127 39,092 17,035
FOE H 32,002 42,309 A 10,307
E SR 21,970 17,597 4,373
HRR A T2 53,227 52,997 230
TR 3 57,884 78,044 A 20,160
etk 49,758 45,681 4,077
fa bt T4 29,091 25,863 3,228
JBHEkAG - 2,435 2,050 385
15 AR B 4,240 3,796 444
DR 683 522 161
EiER 7,303 7,303 0
FHEHLE 751 651 100
E E A 407 414 AT
BT R P 141 239 A 98
PR (B HN 1,684 1,267 417
BB 438 385 53
FABLAGR 438 444 A 6
Z DA H 2,147 2,748 A 601
eH B R 270,968 275,720 A 4,752
4 B R A 21,939 A 25,429 3,490
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(1) BEH SN AR
PR M AR A 0 0 0
(2) B 5 ] 0
e o 5T 0 0 0
R A TR 0 0 0
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